
Answers

1)	     

1)	 Accept a correct explanation that shows that the statement is correct, for example 1095 days is 
equal to 3 years whereas 37 months equals 3 years and 1 month.  Therefore, Henry is older.

2)	 Accept a correct explanation which shows that Noah is incorrect, for example 1¾ hours is equal 
to 105 minutes, not 145 minutes. The correct total is 388 minutes or 6 hours and 28 minutes.

1)	  

a)	

b)	 £69.75

2 minutes and 16 seconds

136 seconds

9 years and 3 months

111 months

628 seconds

10 minutes and 28 seconds

200 minutes

3 hours and 20 minutes

1 hour and 43 minutes

103 minutes

2 days and 6 hours

54 hours

2 weeks and 3 days

17 days

2¼ hours

135  minutes

Poppy £4.50

Liam £6

Lan £5
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